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1. Solve the initial problem »'==- » ¥(2)=3 (20%)
x

2. AsFig. 1, please find the Fourier sin transform and plot the graphs of amplitude spectrum

(IFs09)) (10%) m,\
1
Fig. 1 l

3. Using the Laplace transform solves the ODE (20%)
- Y'+4y'+5y=f(®); »(0)=0, y'(0)=0 _
(1) Use convolution theorem to represent the solution of any f() (BL3EL3E Hi 4 A & %)
(2) I£ft) = 6(z-2), solve the solution.
PS: 6(¢-2) is a Delta function

1 t

fHO=1-t 0<t<1

4. Solve the P.D.E. (20%)

32 a?.
5 === 6x ;u(0,0) = u(l, H =1, (x,0)=0; u (x, 0) = x’

5. Given A = [f; :2] , please find eS"@ _(10%)
6. Please find the following: (20%) .
(1) Prove that %v(q Q) =(Q Q- (VXQ %XQ

(2)For ¢ = x2yz3, find (V¢ - V)V




